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[CIR= &4=] roots, poly, conv, polyval, tf, pzmap, pole, zero,

series, parallel, feedback, minreal, step

where, w, = VE/M, (=b/2VEM), 6=cos '¢, y(0) : EIIHS
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%Compute Unforced Response to an Initial Condition
c=(y0/sqrt(1-zeta™2));

0=0.15;
. y=c*exp(-zetarwn#t). *sin(wn*sqrt(1-zeta”2)*t+ acos(zeta));
wn=sqrt(2); . .

L owsart()y; | [PUTCHEXP(zetarwnsibI="bu;

ta= * t ; .
5_6[20 115?r Dlot(t,y, t,bu"——'y t,bl,'——')y grld
=[0:0.1:101; xlabel('Time (sec)), ylabel('y(t) (meters)")
unforced

legend(['Womega_n=',num2str(wn),’ Wzeta=',num2str(zeta)l])
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o) p(s)=s>+3s*+4

p=[1 3 0 4] %p(s)2 ATE AF7F =2 SAUZ gk s ulE
r=roots(p) %T}&2 po] ZEo] wjdwE g
g=poly(r) %t} AFTE 571 =2 TAUE wds Py
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stalo] 4 conv &%

) n(s)=(3s>+2s+1)(s+4)=3s3+14s>+9s+4

p=[3 2 1];q=[1 41;
n=conv(p,q) % a2l pob qo Al
value=polyval(n,-5) % s=—5% W, t}324 no|
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num=[..J; % Awdre] T2} vhary
den=[...1; % Adego] T5 4
sys=tf(num,den)
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G(s)= —"—, G,=
! s2+2s+5 s+l
s2+12s+15

=> G(S):G1(8)+G2(S): 3 9
s°t+3s"+7s+5

numl1=[10]; denl=[1 2 5]; sysl=tf(huml,denl)
num2=[1]; den2=[1 1]; sys2=tf(num?2,den2)
sys=sysl+ sys2

3) pole, zero &%=

p=pole(sys) % sys’} AEs4+<d ul, poleS A4t
z=zero(sys) % zeros AL

[P,Z]=pzmap(sys) % pole, zerod YAE 3}
pzmap(sys) % H4AHH 9o pole, zeroo HAE 18+,




sys=tf([1 101,[1 2 1])
p=pole(sys)
z=zero(sys)

[P,Z]=pzmap(sys)
al)

pzmap(sys)
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numg=[6 O 1]; deng=[1 3 3 1]; sysg=tf(numg,deng)
[p,z]=pzmap(sysg)

nl=[1 1]; n2=[1 2]; numh=conv(nl,n2);

d1=[1 2+i]; d2=[1 -2#i]; d3=[1 3]; denh=conv(dl, conv(d2,d3));
sysh=tf(numh,denh)

sys=sysg/sysh

pzmap(sys)
S=4C 29 - 2245 23
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[sysl=series(sysl,sys2); % T(s)=sys, G,(s)=sysl, G,(s)=sys2

1
= 20052 " nl=[1 1];d1=[1 2];sysl=tf(nl,dl);
s

n2=1;d2=[500 0 0l;sys2=tf(n2,d2);
s+1

=> T(s)=G,(s)Gy(s)= £00° + 100052 sys=series(sysl,sys2)

GQ (5)

G,(s)
+ [sys]=parallel(sysl,sys2);

% T(s)=sys, G)(s)=sysl, G,(s)=sys2

Gy(s)
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Gy(s)
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[sysl=feedback(sysl,sys2,sign); % T(s)=sys, G, (s)=sysl,
% G, (s) =sys2, unit feedback => [1]
%sign +1 @ positive feedback
% -1 : negative feedback (default)

ol2) 212 oi1)ol &tlAH & (neg. feedback)0l A= E =,

nc=[1 1lidc=[1 2];sysl=tf(nc,dc);
ng=1;dg=[500 O 0];sys2=tf(ng,dg);
sys3=series(sysl,sys2)
sys=feedback(sys3,[1])

cf.) series, parallel, feedback2 CI=
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4) minreal gtz= @ Mg

sys=minreal(sys1);
% sys : no common factors, sysl : possible common factors

5. HHSE : step = - AL HP HAHSES A& A8 dde A0 =X
Olet®, ol M5 QL y(¢)JF ZR8H 22, Otehet 20| ALE.

[y, T]=step(sys,t);
% y : tllA EHSH,

T : simulation time
% sys @ HFXE HEE¢ 0 AFEAF A E or simulation final time

40

o) MgstaIF TSt 22 AMAEN Oist HeHsesS Potat.
5400
(s)=—;
25+ 2.5s5 + 5402

num=[5400];den=[2 2.5 5402];sys=tf(num,den);
t=[0:0.005:31;

[y,t]=step(sys,t);

plot(t,y),grid

xlabel('time(sec.)"),ylabel('y(t)")
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z= Az+ Bu Al(3.1)
y= Cz+ Du
OIIM CtE &=+ - ss , Isim &=, expm &=
1. ss 84 - L& HES M3 HEoZ HEH
cf.) tf &4 - AHZB2ESS MLE4 H8oz HE

% Sys_ss - ¥

sys_ss = ss(A,B,C,D)
A
% A, B, C, D : 2(3.1)9 A,

sys_ss = ss(sys_tf) % sys_tf : %
sys_tf = tf(sys_ss)
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T(s) = Y(s): 2524+ 8s5+6
R(s)  s*+8s°+165+6

n=[2 8 6]; d=[1 8 16 6]; sys_tf=tf(n,d);

sys_ss = ss(sys_tf)

tf(sys_ss)
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o) 123.49 RLC BI20IA, A:(? :g) p=[2. c=a 0, p=on0i2

2 2,(0)=2,(0)=10111, &S u(t)=00IC}t.
)

AEHFEOIHE - FOE A2 At(=dt)0l A AEHEOIHE A&

A=[0 -2; 1 -3]; dt=0.2; Phi=expm(A=dt)

2) FO& =JIRA0 S0l e AIZEE

A=[0 -2; 1 -3]; B=[2;0]; C=[1 0]; D=[0]; sys=ss(A,B,C,D);
x0=[1 1]; t=[0:0.01:1]; u=0%t;

[y, T,x]=Isim(sys,u,t,x0);
subplot(121),plot(T,x(:,1)), subplot(122), plot(T x(:,2))
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